1. T 1: q
¥~ ‘
'%MJ £ 0, e MJZ fo 7{'“”/

Given  an arbs
5% s0ch %ﬂa‘f ¥4 0(/1&/(5 o
[x24] <€

ji%ﬁ)f—‘ )?QHB}/XTE)) -}’ﬁ MJ“"\”?

.

W 5<’| e ﬁ’m;é{ A bocnd 7%" /7(+5 ,/
namady W ix-3] <! W —[<o-3<]
’ a/}J 9 < o ¢ q_/ éJAtJ f:wﬁ,él_f.ﬁ M

S Caes< T Tefue o we  pel I<
ard L (E/;L , @<§< M!]ﬁ!‘n’whﬂb&ﬂ 1 and 5/%))%1&

O<}75"5l<cy WF’&M
q(:}xfj)!xfgj<f5-¥<(§l.;:£

v
FE

phick wio deoeed .



20 L ) =5aTvn, by dfnden

e de T —for
h—>o h
e _§(1+b)L+ (;(+h)..('§x?”ﬂ )
= A L
= L & (ilJr?iLHal) + s(+%—§9c2——:g
h—= 6 . -

2 2
- S’ loxh ¢ $h Fadh- Sa- =

’21—90 )

o b foi{ﬁ+§}\l+b\
h—o B

g (1ox +5A+;):¢01+|.

h—=0




>
7 G |
3. Ba)= 2 (1x)) yaresinx - X
Sl
/ X 5 3 v 5 g
fo)= 2 laf) (24))+2 3 Q- (X4 )
( Sy .~ G 1.4
Yy —_— - |
\ i—xL (SfanL)L

| 8

4. Usuj He HMean Udue Theerewi, sme 2
g &ﬁwhﬁmé& whé/ o fou wdinieawn aloo,

LI ha ve

R /
f) T fee) o some [ <e<E

$=1 | 4 = -
g ; /
&J)ll‘c(\ ijm%‘cé 7%» 7@75,7(' M —f(,x ol 3

£ M % Ku sush =w -ﬁancu%re:% Aoeo nt_:.-{_ Bl

/



5 s

Ji Gs(zx) dx

We  use ngjeymﬁ@‘ Lf 2 2

[w’\/ - uv- Jrdw .

/S‘#“’? R=Z; av= (os(32) dx we

“I/D\&LM

i B A Ve :%Lg’”(gl)/ e

/

J;z; s (3 ) AI“— :lngéf_?;()rjét Sin(3x) dX
o



g &
f i s g Al

gt by gt by whing

Ne —wae
u-_:LV};L JL/:;LC{;{‘
ju:-*l’ A i = Q’LL
=) ~. 2,.-9( . 6}
8 - g A&
& Jygﬁmxdﬁx: %—_—'LMX/#/ B
| gl
&
B0 ek <] B 2
= Z 2_l 'g
JRC T I
s garbE R g i*’)
o 64 — |
2 (22) B (



